Hello,
 

This is a rather simple procedure that is absolutely confounding.

 

I am assuming you are referring to a Man's size 11?

 

Usually, UK sizes are numbered one size below a US size: therefore 

a UK size 11 would be a US size 12.

 

That being said, on the Chucks box they say a UK 11 is a US 11 - but lets ignore that.

 

Doc Martens list the UK 10 as a US 11 - and they are right.

 

Now, Chucks run one half size large; meaning someone who wears a US 12 (UK 11), would usually wear a Chuck 10 1/2.

 

But Chucks are a bit tight, so people with wider feet will usually take their usual measured size in order to have the width, albeit the shoe will be a touch long.

 

Narrow feet will usually take the 1/2 size smaller shoe.

 

Kids today seem to be wearing their Chucks a bit larger; mostly the boys are doing this. Big feet seeming to have some social significance these days.

 

Of course a bit big is always better than a bit small. Also, what is the difference between your feet?

 

If you're still there, you should put your larger foot's heel against a wall and then, standing with your weight on that foot, have someone place a straight edge against your toes and measure the length of your foot.

 

Include that info with your estimation and we're in business.

 

I'll get you the right shoe.

